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® Please check that this question paper contains 8 printed pages.

® Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 30 questions.

® Please write down the serial number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.

Y,
MATHEMATICS
(Urdu Version)
3y, 80: 4 f
Time allowed : 3 hours Maximum marks : 80

46/2 1 [P.T.O.



O |

UG el elE o G)

e SDBCBAULI L J””/ U 30 =iy oy o (i)

VP g VB o e ALl L e S v g A (i)
S AL DL e et 10C e 62 L e
ey 8L Usf 44 UiD o

el 3Lt U ded ol Ut ety 4L Ut 33 e UL U U A 8F )
§ Ul DU & LT CTUE L r e U U s 81 Jakl o U s 81 Bkt
e b2

- ‘j...iu:ajt.pl JL/’/JWI}J}@.’( )

w

A >

-4/-,".ﬁ Ky 26 A b1 Al
ar AABC

arAPOR ° 5()’/1 PQ 3/<AABC APQR: < Ix s

¢ Jﬂ J2 l,}/p( (cos? 67° — sin? 23°)

_éfnyLIgKP(x,y)ﬂ
-é(F/ﬁJk}":‘a/lgvgKx2—2kx—6=0cal}k/u7./u:<x=3jl

¢ By l,}/ (H.C.F.) J]-i'fblgb K'(composite no.) 14 Lﬁiﬁfc 3 2063 L}‘%’?L —

_;;f(,l:»uf% KUl (a)=4 ufuuiw,ld= —4: J}J}i‘uf AP. tffl

46/2 2

g



g A2l v 12de 0T

g SE B S FL b o 5:9 Konl 10041 7
< Fhe 8 @)
e K S i)

:;;f()**du“:l-g’u%ujvv“ﬁfuﬁg ¥y 8
K J'I(P(&,.Jf)b){ﬁ}) (i)
K108 M urs S urlude (i)
Ee s mA K;/ﬂ%ﬁ eI U P, m) S B6,-3) 51 AQ,3) ESE 9

-‘amJ*'t}Vg(5+3\/§)J§cf;e<‘¢J£t}\/5 J/‘L‘lz: 10

-:é()‘”g{/ﬁJy/;lx-‘ay/vﬁABCDwflgﬁ 11

D xty C

14 cm X=-y

A 30 cm B

1f
_E TS Sg i L3 02

46/2 3 [P.T.O.



46/2

C.=2

g A3 v 22t 13 1

EE Doy S §) s 1500 km e 2t e 30 & P g e i
-l U S Uy 506 100 km/h B S S e 1 S

Ln;/?/";L&/u’l,}) e CMUM}VL;?;/?Z}ZV@L d/u{fj&(c/b
—e b I L el s Gl

\
- J&u’”o}féa@ Sl L u?@,t‘}uﬁ

-‘a&wd)k/égJurVé:if//vo//bLfcﬁdﬁUf(féc«:b‘

gy.t:ujui2tﬁ.flf:."‘fél//d5)/o/ﬂcg/ﬁ£glﬁ"lJ)’%&Vngﬁd
g2 § §kFor 3.5 0m B id ¥ (base) swb £ U1l 10 em (o § L1 e

E e pd S
Z
T,

2

L

< 35m le{;lul 24 m £ K (base) —wb L < KLFJL;}/% L K ushl
Clre b l{Jk(W“iLéU//ff u’l-é‘f(}"‘g Kushl

13

14

15

16



o T 7S 280 Ut Usee 2t &

(LA DNF s St 3
5-10 49
10-15 133
15-20 63
20-25 15
25-30 6
30-35 7
35-40 4
40 —45 2
45 - 50 1

-“&{pj‘” (Median) .*lb-s K(:}?Jolfﬁc U}}(Tul

-,,&’((’J”//sb( (4sin6—cos(9+1

4sinO+cos0—1

b

S 5 AT 03k ol L1 2A UL < tan 24 = cot (A - 18%) )

RemPUFL e DACBAS U E IR L L L3P
£S AR QP LE Jen L ol o7 f DA 1 CD BC <AB { o1 £ ABCD & £
L& Jein=3.141-0t &S E Ut Usin

B

46/2 5

j Jedtan0=31

17

18

19

[P.T.O.



Sbustadar v ABCD Guaul §i15* D(1, 2) 15 C4, b) B(a, 0) <A(-2, 1) JI
LE UL S L g b

b
87k Jgr U S ABCD 37k D, 5) 41 C(=1, —6) B(—4, —5) <A(-S, 7) /]
-&E 5§ ABCD

o SE Fadm Z o L.CM) P Sbohsl (HCE) S22 2 § 96 51 404

HCF X LCM = o ° J7b 63l Ushs 2

@B el TG o po el L f—od 4 58+ - 1)1 G0 2
2-13)

w

D >

AL Dy e S30 A 23 A1

L L1 % vt ZABC = 60° 4l AB=5cm « BC =6 cm (2 (% 25 ABC &b ]
3 . i .
LU 3 LW Qe Z AABC U J’;fdzoum

L b Qs § o p Hb S STl & e 328 M 6ol b 4 Uk AP, T
_:4:{(31’”:',@'-‘4 7:15 e .,/"J'f(w

46/2 6

20

21

22

23

24



46/2

1 . : .
25 =6 BD=3BC S AUl &5 1/ BCE D Uk ABC & LUlou sbr 7 25
9(AD)? = 7(AB)?
b

- bw S~ ZE L u,"f/ﬁ O ol uju/?: &/ APy, f@f:&:wb‘

S il gt L e I Sl 24 km e 18 knvme Jl U2 BL L S UF e ol 26
e Sl e Bl s 1 LS Aok 5 er
!
6 km/hr Ut Jb S16TF 72 km 4 e GE e Jb bost (6T F 63 km $2€ L &
b/;ldj&TJu’l}":‘LC{gSUfL/f}jﬁfﬁ-‘a Fe Je bt AL 5 1L
fe Uk

E ML g L w g S g St £ G 23100 m = e 2
Jegr b & LT Gt g U & B Lol o pns sty L1145 30°
[ e \B= 17321 (#2006 Gl € Usilg Ushs

30cm s 10em P B L U & Gt & e SFFL L FFSSL A 28
& e 24 cmég,l Suliu
Sk felbdndigt Ll )
(& Jein=31415c b b Sud e i £ G G G B 87U i)

7 [P.T.O.



46/2

-“L}'( ()L’” (frequency) fo) 61921 u’tf-‘a 18 (Mean) ~ s K(:;/J‘;',g/ﬂ

J¥  |11-13]13-15

15-17

17-19]19 -21

21-23123-25

3

gyt

13

L

e fd} &AT,JU}/ Jub-(/( 501 ¢/(Kuf d}ggfruf Ui J:;',.y/ﬂ

(LD &AT;U)J

100 - 120

120 - 140

140 - 160

160 - 180

180 - 200

s JUL-CK

12

14

8

6

10

7l :L{ J: & % (cumulative frequency distribution) p’..j:,&;j Jrg Z (p [ EYrA g p’.}? J!
-g (ogive) f/" Jlb Ju’l

sin A — 2 sin’ A

2 cos’ A —cos A

=tanA::¢:fc/;b‘

29

30



